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MNFELE—TEE: AU =U,-U, =Q+W
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FHER N { —pAV =—p(V, —V,)
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Qp =U, -U, + p(vz - 1) — (Uz + pvz)_(U1+ pvl)

< H=U+pV m Qp,=H,—-H,=AH
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Q,=Q,+ PAV =Q, +ANRT  AN=2 Ny D Negeim

{5 : #£298.15KF1101.3kPaT~, 2 mol H,.51 mol O, [z

4 %2 mol H,OR#% 571.66kJ. jzu&r“ 5
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Hz(g)+%oz(g) > H,0(l)

¥ A% 1mol H,0

Q, = -571.66/2 kJ = -285.83 kJ
Qv:Qp'pAVZQp-AnRT

=-571.66/2 kJ — (-1.5 RT)=-285.83 — (-3.72) kJ = -282.11 kJ
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(1) CHi#)+20,@>CO@ A H,,=?
2) CO@+20,@ —>CO.@ A H,,=-282.98KkI/mol

(3) C(f752)+0,(g) —> CO,(g) 4,Hp3=-393.51kd/mol

; ArHm,C’u:ArHm,l-I_Aer,Z

F: AH,,=-110.53kJ/mol
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aA+ fF=gG+dD 0=-aA-fF+gG+dD=) v,B
B

Ar Hme :gAf Hem,G + dAf I_Iem,D' aAf Hem,A ) fAf Hem,F

= ZVBAf H. s
B

(1)(AB+CD A HS, =7

(2) AB+CD=A+B+C+D A H®,=-A¢H® 45 - ArH® p

(3) A+B+C+D=AC+BD AcHO 3 = ArHO ac + ArHO, gp

A HO =L HO, e + ArHO o ACHS  as - ArHO o O
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m|AR N 2Al(s)+Fe,04(s) = Al,O4(s)+2Fe(s)
AH® (kImol) 0 -8242  -16757 O
A H.© =-1675.7 - (-824.2) = -851.5 (kJ/mol)

BFEOMRIR R . 2N,H,(1)+N,0,(g)=3N,(g)+4H,0(g)
AsHLS (kiimol)  50.63 9.66 0 -241.84

A, H,© =-1078.28 (kJ/mol)




HELS R R AR R

o TR BMEMRE (R, & B , SEESHE;
® (KIEEC I FERIENITE;

® FRNMS¥KRE, HEHEF, FSHRK;

® EESmmEAMIKR, —HRITIL298. 15K NHYHE.




HFERMHE : &

aA + fF = gG +dD

O0=—aA—-fF+gG+dD : 0=> v,B
B
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FEREST, ImoIRSE4£EREE WK MR M
#: AH © (ki/mol) LCO,, N,, H,0#

(1) C,H,y(9) + Hy(9) = C,H,(9)
A HL© (kI/mol) 12996 -285.83 -1411.0
A, H_© =[(-1299.6)+(-285.83)-(-1411.0)]= -174.43 (kJ/mol)

(2) C,H,(9) +5/2 0,(g) = 2C0O, (9) + H,O (1)

(3) Ha(9) + 1/2 Oy(g) = H,0 (1)

(4) C,H,(9) +30,(9) = 2C0O, (9) + 2H,0 (1)

(1) = @+(3)-(4), A HO 1= A HO L+ A HE - AL HE,
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